[image: image1.jpg]



[image: image2.jpg]


[image: image3.png]



[image: image4.jpg]


[image: image5.jpg]


[image: image6.jpg]


[image: image7.jpg]Subsurface Water
Extraction Tool

‘Patent Pending

\




[image: image8.jpg]


[image: image9.jpg]


[image: image10.jpg]


[image: image11.jpg]


[image: image12.jpg]


[image: image13.jpg]Revised: 01/07/10
LB114

FLLASH SPOTTER

SUB-SURFACE SPOT LIFTER TOOL

AC004

Water Claw

4282 South 590 \X/est

Salt Lake City,

terCLAW
801-268-2673 a ar

801-268-3856 FAX




[image: image14.jpg]


[image: image15.jpg]


[image: image16.jpg]


[image: image17.jpg]


[image: image18.jpg]


[image: image19.jpg]


[image: image20.jpg]


[image: image21.jpg]


[image: image22.jpg]


[image: image23.jpg]


[image: image24.jpg]


[image: image25.jpg]


[image: image26.jpg]


[image: image27.jpg]


[image: image28.jpg]


[image: image29.jpg]


[image: image30.jpg]


[image: image31.jpg]


[image: image32.jpg]Revised: 10/28/09
LMANACO005

FLASH XTRACTOR

SUB-SURFACE FLOOD EXTRACTION
TOOL

Water Claw

4282 South 590 West
Salt Lake City, UT
84123

801-268-2673
801-268-3856 FAX




[image: image33.jpg]Revised: 10/28/09
LMANACO005

FLASH XTRACTOR

SUB-SURFACE FLOOD EXTRACTION
TOOL

Water Claw

4282 South 590 West
Salt Lake City, UT
84123

801-268-2673
801-268-3856 FAX




[image: image34.jpg]Revised: 11/25/09
LB112

SPOT CLAW

SUB-SURFACE SPOT LIFTER TOOL

AC012

Water Claw

4282 South 590 West

Salt Lake City, UT &
Water

801-268-2673

801-268-3856 FAX




[image: image35.jpg]


[image: image36.jpg]


[image: image37.jpg]


[image: image38.jpg]


[image: image39.jpg]


[image: image40.jpg]


[image: image41.jpg]


[image: image42.jpg]


[image: image43.jpg]


[image: image44.jpg]


[image: image45.jpg]




[image: image46.jpg]


[image: image47.jpg]



[image: image48.jpg]


[image: image49.jpg]



[image: image50.jpg]



[image: image51.jpg]


[image: image52.jpg]



[image: image53.jpg]



[image: image54.jpg]



[image: image55.jpg]


[image: image56.jpg]


[image: image57.jpg]



[image: image58.jpg]


[image: image59.jpg]



[image: image60.jpg]


[image: image61.jpg]


[image: image62.jpg]



[image: image63.jpg]










































































Bridgepoint Parts Catalog 


Section XLII: Sub-Surface Extractor Parts				Page 1








			

















			 NM5500


			 BASE ASSEMBLY


 FLASH XTRACTOR


























			 LB114


			OPERATOR’S MANUAL


 FLASH SPOTTER 











			NM4261


			NUT ¼-20 HEX NYLOCK SS














			NM5035


			SCREW ¼-20 X 1-3/8” HHCS SS




















			NM5517


TUBE LOWER FLEX HANDLE


FLEX HANDLE 


 FLASH XTRACTOR











			NM5515


TUBE UPPER FLEX HANDLE


FLEX HANDLE 


 FLASH XTRACTOR











			 NM5506


			TUBE REDUCER 1.00” X .875”


 FLASH XTRACTOR HANDLE


			WATER CLAW HANDLE











�





�





			 NM5507


			SPRING BUTTON SINGLE


 FLASH XTRACTOR HANDLE














�





			 NM5513


			SPRING BUTTON DOUBLE


 FLASH XTRACTOR HANDLE














�





			 NM5518


			TOP PLATE / HANDLE


 FLASH SPOTTER














�





			 NM5520


			BOTTOM PLATE 


FLASH SPOTTER














�





			NM5514


			LOCKING PIN .25” DIA X 2.3”


 FLASH XTRACTOR HANDLE











			NM5505


REPLACEMENT FLEX HANDLE 


 FLASH XTRACTOR

















			 NM5516


			 ROD POLYURETHANE


 FLASH XTRACTOR HANDLE











�





			 LBAC005


			LABEL FLASH XTRACTOR








			 NM5512


			FOAM GRIP T-HANDLE


 FLASH XTRACTOR HANDLE











�





			NM5511


			WELDMENT T-HANDLE


UPPER HANDLE 


			











�





			














			NM5510


			HANDLE ASSY COMPLETE


			FLASH XTRACTOR














�





			 NM5502


			 BASE BOTTOM PLATE ONLY


 FLASH XTRACTOR











�





�





			 NM5501


			 BASE TOP PLATE ONLY


 FLASH XTRACTOR











�





�





�





			 LBAC004


			LABEL FLASH SPOTTER








			PFA01


			Handle Clip – Old Style


			Double Button- Water Claw








Bridgepoint Parts Catalog 


Section XLII: Sub-Surface Extractor Parts				Page 2








�





�





			PFA02


			Handle Set w/ Vacuum Relief


			Left & Right Handle Set


			Spot Claw














				NM5545


Screw 5/16-18 x 3-1/2” SS Button Socket Head


Water Claw 




















�





			PFA10


			Nut 5/16-18 SS Nylock 


			Water Claw 








�





�





				NM5556


Spring Cap


Water Claw 











		








�





			NM5507


Handle Clip – New Style


			Single Button- Water Claw

















�





				NM5555


Spring Water Claw 


				Vac Relief





		








			








				NM5512


Handle Foam Grip


Water Claw 











�





		








NM5565


Spring Spot Claw 


				Vac Relief


				 











�





				NM5537


Handle Base Large/ Med


Water Claw 


	








�





			








NM5563


Flapper Left Spot Claw 


				Vac Relief








�





				NM5538


Handle Base Small


Water Claw 


	








�





			








NM5564


Flapper Right Spot Claw 


				Vac Relief








�





�





			








				NM5559


Handle End Cap


Water Claw 











�





NM5566


Rubber Plug Spot Claw 


				Vac Relief








			








			








NM5562


Roll Pin Spot Claw 


				Vac Relief








�





				LB110


				Operator’s Manual


				Water Claw











�





			LMANAC005


			OPERATOR’S MANUAL


 FLASH XTRACTOR 











�





				LB112


				Operator’s Manual


				Spot Claw














�





Bridgepoint Parts Catalog 


Section XLII: Sub-Surface Extractor Parts	 			Page 3








�





				NM5570


			Screw #10 X 1-1/4”Sheet Metal


			Phillips Pan Head Anodized


			Spot Claw Handle - Corners





				NM5544


				Gasket Water Claw 


All three sizes


Small, Medium & Large





�





				NM5571


			Screw #10 x 3/4”Sheet Metal


			Phillips Pan Head Anodized


			Spot Claw Handle - Inside





�





				 











				NM5569


				Top Plate


 Spot Claw 











�





			AH69


			Barb 2” x 1-1/2” MPT PVC








				 











�





			








				NM5568


				Base Plate


 Spot Claw 











�





				NM5567


				Gasket Spot Claw 














�





			








NM5560


Handle Left Spot Claw 


				Handle Only











			








�





			








			PFA20


Kit Gasket Upgrade 


Vacuum Relief


Small Water Claw




















�





NM5561


Handle Right Spot Claw 


				Handle Only











�





			








			NM5533


Gasket Vac Relief Water Claw


 Small 











			PFA21


Kit Gasket Upgrade 


Vacuum Relief 


 Large & Medium Water Claw











�





�





			NM5534


Gasket Vac Relief Water Claw


 Large / Medium 

















	








�





			





























Bridgepoint Parts Catalog 


Section XLII: Sub-Surface Extractor Parts	 			Page 4








			PFA03-2


			Handle Long SS – New Style


			Water Claw		











PFA03 DISCONTINUED


			Handle Long Black – Old Style


			Water Claw		


			











�





�





�





			NM5558


			Screw #12 x 1” Sheet Metal


			Phillips Pan Head SS Anodized


			Water Claw Base





			NM5557


			Screw #12 x 7/8” Sheet Metal


			Phillips Pan Head Zinc Plated


			Water Claw Base








�





NM5536


Extension Tube - Water Claw Handle- Lower Half 








	NM5511


T-Handle - Water Claw 	Handle – Upper Half 





�





�





NM5530


Top Plate Small Water Claw


			











NM5541


Base Plate Small 


Water Claw


			











�





�





NM5531


Top Plate Medium Water Claw


			











NM5542


Base Plate 


Medium Water Claw


			











�





�





�





�





NM5532


Top Plate Large Water Claw


			











NM5543


Base Plate Large


 Water Claw


			











	NM5540


				Foot Grip Tape 1” Wide


				Sold Per Inch





NM5539


Vacuum Flange Elbow


 Water Claw








�





�





Bridgepoint Parts Catalog 


Section XLII: Sub-Surface Extractor Parts	 			Page 5








			


		











LMANAC002


Operator’s Manual


Flash Xtractor II 


			


		











NM5548


Weldment T-Handle


Flash Xtractor II 


			


		











NM5528


Bumper


Flash Xtractor II 


			


		











NM5526


Gasket


Flash Xtractor II 


			


		











NM5525


Base Plate


Flash Xtractor II 


			


		











NM5507


Handle Clip – Single Button - Flash Xtractor II 


			


			











NM5547


Cam Lock Clamp Assy.


Flash Xtractor II 


			


			











NM5546


Tube Outer – T-Handle


Flash Xtractor II 


			


			











NM5522


T-Handle Assembly 


Flash Xtractor II 


			


			











NM5521


Screw #14 x 1/2” PFH 


				SS - Flash Xtractor II 


			


			











NM5523


Screw #10 x 1-3/4” PFH 


				SS - Flash Xtractor II 


			


			











NM5529


O-Ring A-155 


Flash Xtractor II 


			


		











NM5527


Elbow


Flash Xtractor II 


			


			











NM5524


Top Cover 


Flash Xtractor II 


			


		









































�





















































�





NM5512


Handle Grip - Foam


Flash Xtractor II 


			


			














